000000 (oo:.0000) 20100 20 10
12. 00000 (0O)

pO000000 (Z/pzZ)*O0O0OOOO0DO0OOOOOO,000000000000
ggoooo.

00 12.1. f(X),¢(X)000000000000 (F(X),9(X) € Z[X]). 00 n(>1)
0000, f(X)-¢g(X) 0000000 n00000000, £(X)=g(X) (mod n)
ooo.

(1) f(X)€eZ[X],aczDOOO.OO f(a) =0 (modn) 000,00 ¢g(X) € Z[X]
00000 f(X)=(X —a)g(X) (modn) 00D00ODO.

(2)p000, f(X)eZ[X)], f0000 kOOO. k>1000, f(a) =0 (mod p)
000000 «0 000 p—10000000 k0000D0O00000.

ud 12.2. o0 200000000040, 1,...,n=1000 n0O0O0OOOOOOO
00 on)000,000000000000.00,n=10000 ¢(1)=1000.
(1) GCD(m,n) =1000, ¢(mn) =¢(m)p(n) DOOOOOOO.

(2)p000,k000000000,¢(p")=p"'(p—1)00000000.

(3)d0 n0 (00)0000000,1,...,n—1000 00000000 d0O
0000000 ¢(n/d 000000000.

(4)n0 (00)00000000000000 dy,....d, 00000 o(d)+---+
o(dn,)=n00000000.

(5) G000 nO000000000,GO00000000 n0000000000
p(n) 000000000,

00 12.3. p000000.p—10 (00)00 d000,(Z/pz)* 0000000
0d000000000 ¢(d) 000.

()p—10 (00)00000000000 dy,...,d, 00000, ¥(dy)+---+
W(d,)=p—100000000.(000:000000000.)

(2)%(d)>0000 d000.0000 (z/pz)* 00000000 400000
0000000000 :000.0000 (Z/pz)* 000 d000000 2000
000000 () 000000000000, (00 121(2)000.)

(3)000 (1)(2)000 122(4)(5)0000,p—100000 (00)00 d0O0
00 ¢(d)=¢(d00000000.

[00]00000 (3)00000,000 ¢(p-1)>000000000000,
(z/pz)0000000000000000000O.



Uod 124. p00000O0O.0000.
(1) 000 acZO000,00 GCD(a,p)=100 a%zil(modp).
(2) (p— 1)!=—1 (mod p).
3)p>30000124+22+---+(p—1)>=0 (mod p).

00 12.5. (1) 2°=10 (mod 1998) 000000 2z 0000000000 0O0O.
(2) #2%° = 2010 (mod 21) 00O O00D0 0000000000 OO.
(3) 229 = 2010 (mod 22) 000000 0000000000 OO.

(H)D 19980 (DD 100)000000DOOOOOOOOOODOOOOO.ODOOO
O0ooooooooo,()ooooooooooo.



